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NEW QUESTION 1
Identify two statements that are true about the cost-organization relationship.

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations.
B. Only Inventory organizations belonging to different Item Master Organizations can be part of a cost organization.
C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations.
D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity.

Answer: CD

NEW QUESTION 2
Your organization is planning for a periodic counting of individual items automatically throughout the course of the year. As part of this activity, the user has loaded
items to the cycle count but some of the items are not being considered when count schedules and count sequences are not generated.
Identify two reasons that explain why the items are not being considered.

A. The ABC assignment group is not defined.
B. The Include in Schedule option is not selected to include the item for auto-scheduling.
C. The Cycle Count Enabled flag is not selected for the inventory organization.
D. The Cycle Count Enabled flag is not selected for the item.
E. The approval controls are not set up.

Answer: DE

NEW QUESTION 3
You set up an item organization and an inventory organization as part of your customer’s requirement. Your customer has, by mistake, performed a receipt
transaction in the item organization instead of the
inventory organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.
B. Perform a return of item and receive the item again in the correct organization.
C. It is not possible to receive item in the item organization.
D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect any other operation.

Answer: C

NEW QUESTION 4
A user is performing a material return transaction against access stock in an Inventory organization; however, the user fails to select the Physical Material Return
Required check box.
What happens?

A. It is considered as accounting-only return.
B. Stock is reserved.
C. A transfer order line remains open.
D. Shipment lines are created.

Answer: A

NEW QUESTION 5
Which two features are provided by the JSTL Core library for a JSP? (Choose two.)

A. iteration over a collection
B. buffering of large result sets
C. testing conditions
D. message localization

Answer: AD

NEW QUESTION 6
Which class do you use to handle an incoming JSON Message as a stream?

A. JsonReader
B. JsonObjectBuilder
C. JsonParser
D. JsonObject

Answer: A

NEW QUESTION 7
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
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E. On Hand

Answer: B

NEW QUESTION 8
Your customer wants you to restrict the values of Receivables Transaction Type for their three business units. You created three reference data sets for each
business unit. However, the user is still able to see the values in the Transaction Type list of values which are not defined in the business unit data set.
What is the reason for this behavior?

A. The user is seeing the values defined in the common se
B. The values should be removed from the common set.
C. Receivables Transaction Types are common across business units.
D. Reference Data Sets cannot be used uniquely across business unit
E. They can only be used at the Legal Entity level.
F. The user has multiple Business Unit Roles and, therefore, is able to see additional values.

Answer: A

NEW QUESTION 9
While creating the consignment agreement, you have set the consumption advice frequency to “monthly” and the billing cycle close date to “31st August, 2020”.
What will happen when you run the consumption advice process on 31st August, 2020?

A. No consumption advice is created.
B. Consumption advice is created and the next closing date is set to 30th October, 2020.
C. Consumption advice is created and the next closing date is set to 7th September, 2020.
D. Consumption advice is created and the next closing date is set to 30th September, 2020.

Answer: D

NEW QUESTION 10
An inventory transaction is important to the system through an FBDI template.
Which transaction state denotes that an inventory transaction is created in the Oracle Inventory Management application?

A. Created
B. Validated
C. Deferred
D. New
E. Staged

Answer: B

NEW QUESTION 10
Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
Which three structures should the customer use the to do this?

A. Warehouse, Subinventory, and Locators
B. Cost Centers, Organizations, and Locations
C. Cost type, Default Cost Structure, and Item Organization
D. Divisions, Business Units, and Departments

Answer: D

NEW QUESTION 14
Your organization performs a restock via a transfer order between inventory organizations, using the following parameters for processing:
Transfer Type: In-transit transfer type Receipt Routing: Standard
Transfer Order Required: Yes
During the process, the receiving organization wants to make a change to the transfer order line. After which fulfillment stage will they no longer be able to change
the transfer order?

A. Awaiting Receiving
B. Awaiting Billing
C. Closed
D. Ship Confirm
E. Awaiting Fulfillment

Answer: C

NEW QUESTION 18
Java EE’s support for WS-Security includes handling which two types of security credentials? (Choose two.)

A. X.509 certificates
B. SAML tokens
C. OAuth Bearer tokens
D. Two-factor authentication tokens

Answer: AB
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NEW QUESTION 21
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count
B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count
E. Blind Inventory Count

Answer: D

NEW QUESTION 24
Given:

Which annotation do you use on line 1 to ensure that clients immediately time out when attempting to concurrently invoke callMethod () while another client is
already accessing the bean?

A. @AccessTimeout (value = 1, unit = TimeUnit.SECONDS)
B. @AccessTimeout (null)
C. @AccessTimeout (-1)
D. @AccessTimeout (0)

Answer: D

NEW QUESTION 27
What is true about Message-Driven Beans (MDBs)?

A. MDBs can participate in transactions.
B. MDBs are invoked synchronously.
C. Each MDBs can process messages only from a single client.
D. MDBs retain data caches between client calls.

Answer: A

NEW QUESTION 31
Your customer wants to transfer material from facility A to facility B. They are using the interorganization transfer to perform the transaction in the system. Their
requirement is “whenever material is transferred from their facility A to facility B, facility B needs to pay 5% additional amount to the current item cost”.
Which task must be set up to accomplish this requirement?

A. Manage Interorganization Markup
B. Manage Transfer Pricing Rules
C. Manage Cost Plus Pricing
D. Manage Cost Organization Relationships
E. Manage Organization Relationships

Answer: D

NEW QUESTION 33
Which of these can be a JPA entity?

A. Enum type
B. Abstract class
C. Interface type
D. Final class

Answer: A

NEW QUESTION 34
Given the code fragment:
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How are transactions managed?

A. through a single shared transaction across the connection factory
B. through a separate transaction per JMS Consumer
C. through a single transaction for the entire JMS Topic
D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 38
Which statement is true about the WS-Security standard?

A. It is a Java EE standard for protecting SOAP services.
B. It relies on HTTP security mechanism to protect SOAP messages in transmit.
C. It provides message-level security.
D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 43
Which two approaches would result in the current date being added to the output of a JSP? (Choose two.)

A. <%= out.printIn(new java.util.Date()) %>
B. <% out.printIn(new java.util.Date()); %>
C. <%= new java.util.Date() %>
D. <% System.out.printIn(new java.util.Date()); %>

Answer: AC

NEW QUESTION 45
Given the code fragment:

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)
B. u.setProperty(Schema)
C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 46
Given the code sample:

And:

And:
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And the next fragment from beans.xml:

And this injection point:
@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?

A. SmsHandler
B. MsgHandler
C. None of the abov
D. An exception would be thrown due to ambiguous bean references.
E. GenericMessenger

Answer: D

NEW QUESTION 50
Given a JSL document describing a batch job:

How do you initiate a batch job?

A. Get the JobExecution object from BatchRuntime and call its start() method.
B. Get the JobExecution object from BatchRuntime and set its status to JobStatus.INITIATED.
C. Get the JobOperator object from BatchRuntime and call its start() method.
D. Call BatchRunTime.initialize(“ProductLoadJob”);

Answer: A

NEW QUESTION 54
Which URL represents an invalid approach to pass a parameter to a REST resource?

A. <base-url>/Employees?value=1
B. <base-url>/Employees&value=1
C. <base-url>/Employees/1
D. <base-url>/Employees;value=1

Answer: D

NEW QUESTION 57
For an Item to be enabled for back-to-back order process, which attribute do you need to set?

A. Item attribute: Allow purchase orders off of sales orders
B. Organization attribute: Allow Back to Back Processing
C. Organization attribute: Allow Reservations
D. Item attribute: Back-To-Back Enabled
E. Item attribute: Reservations Enabled

Answer: D

NEW QUESTION 58
How do you specify a default error page in your web.xml file?

A. <on-error><location>/general-error.html<location></on-error>
B. <error-page><error-code>*</error-code><location>/general-error.html</location></error-page>
C. <on-error><error-code>*</error-code><location>/general-error.html</location></on-error>
D. <error-page><location>/general-error.html</location></error-page>

Answer: B
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NEW QUESTION 59
Your customer wants to prevent customer shipments out of a specific subventory. They are setting up a material status to control this.
Which transaction do they need to disallow?

A. Sales Order Pick
B. Sales Order Issue
C. Ship Confirm
D. Miscellaneous Issue
E. Move Request Putaway.

Answer: B

NEW QUESTION 63
You have been asked to implement internationalization in your JSF web application. Where do you configure the supported locales?

A. in the <f:view> tag of the Facelet page
B. in the web.xml file
C. in the faces-config.xml file
D. in the src folder

Answer: A

NEW QUESTION 65
While negotiating the terms of the consignment agreement, the buyer and the supplier mutually agree to set aging onset point as receipt and the aging period as
five days. The terms also say that the consumption advice will be generated daily.
In which three scenarios will the goods be transferred from the supplier’s ownership to buyer’s ownership?

A. You received the goods today and you decided to issue the goods after days without transferring the ownership.
B. You received the goods today and for the next one week you do not plan any action on the same.
C. You received the goods today after six days you decide to transfer the ownership using the “create transfer to consigned transaction” task.
D. You received the goods today and you transfer the ownership using the “create transfer to owned transaction” task.
E. You received the goods and after four days you return the material to the supplier.
F. You received the goods today and after three days you transfer the ownership using the “create transfer to consigned transaction” task.

Answer: ABD

NEW QUESTION 70
Given the code fragment from a Facelet page:

On Line 1, you ae asked to insert a search box that displays the text “Search Here” via a placeholder.
Assume searchMB is a valid Managed Bean.
Which two options enable you to create a search box with a placeholder attribute on Line 1? (Choose two.)

A. <h:inputText value=“#(searchMB.query)”><f:param name=“placeholder” value=“Search Here”/></h:inputText>
B. <h:inputText value=“#(searchMB.query)” placeholder=“Search here”/>
C. <input jsf:id=“search” placeholder=“Search here” jsf:value=“# (searchMB.query)”></input>
D. <h:inputText pt:placeholder=“Search Here” value=“#(searchMB.query)”/>
E. <input id=“search” jsf:placeholder=“Search Here” value=“$(searchMB.query)”></input>

Answer: CE

NEW QUESTION 73
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface

Answer: D

NEW QUESTION 75
A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs). While trying to set up Cost Organizations for
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each of these Legal Entities you were unable to perform the mandatory step of assigning the Profit Center Business Unit for one set of eight Inventory
Organizations; however, you could do it for the other set.
What is the reason for this?

A. The Legal Entity Setup is incomplete.
B. There is no Inventory Validation Organization defined.
C. The General Ledger is not associated with Business Unit.
D. The Business Unit is not enabled for Costing.
E. There is no Business Unit associated with the Legal Entity.

Answer: E

NEW QUESTION 80
During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business Intelligence (OTBI) KPI to review the list of
standard reports which is useful for their current business scenario. When navigating to reports and analytics, the warehouse dashboard doesn’t show any KPI
watchlist.
Identify two causes. (Choose two.)

A. Logistics Business Intelligence Analytics is enabled.
B. Logistics Business Intelligence Analytics is not implemented.
C. Organization is not enabled for warehousing.
D. Data permissions for the organization being referenced are not set up.
E. Supply Chain and Order Management Business Intelligence Analytics is not enabled.

Answer: BE

NEW QUESTION 85
Given the following class definition with numbered lines:

How do you specify to use this mock CDI bean implementation instead of the regular implementation class?

A. Use the alternatives element in the beans.xml file and specify the class name in the class element within it.
B. Start up the server with the optional –alternative command-line option, specifying any alternative class names in a comma-separated list.
C. Reorder the implementation names in the beans.xml file such that the desired alternative is listed earlier.
D. Delete the regular implementation class from the WAR.

Answer: B

NEW QUESTION 88
A Java EE application that uses an EJB container must communicate with a legacy system developed using non-Java technologies.
Which two Java EE technologies can be used in the integration tier of the application? (Choose two.)

A. JMS
B. JSF
C. JPA
D. JCA

Answer: AB

NEW QUESTION 92
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments
B. Orders Completed in Full
C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 97
Given:
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How often does the submitted task run?

A. need more details to determine
B. once
C. as many times as you like
D. based on a schedule

Answer: A

NEW QUESTION 102
Your customer has a requirement across their 10 warehouses, each with different users. They would like that whenever a warehouse user logs in, their warehouse
should get populated.
How will you achieve this?

A. Set up the profile option INV_DEFAULT_WHSE_ID at site level.
B. Set up the profile option INV_DEFAULT_WHSE_ID at user level for each user.
C. Set up the profile option INV_DEFAULT_WHSE_ID at role level (different roles for different warehouses).
D. Set up the profile option INV_DEFAULT_ORG_ID at user level for each user.
E. Set up the profile option INV_DEFAULT_ORG_ID at role level (different roles for different warehouses).
F. Set up the profile option INV_DEFAULT_ORG_ID at site level.

Answer: E

NEW QUESTION 106
Your company has multiple inventory organizations where goods are transferred internally. A user has created a new organization but new organization is
unavailable when creating an interorganization transfer.
What is the missing setup?

A. Inventory organization data access for users is not set up.
B. Interorganization Parameters are not set up between the organizations.
C. The destination organization transfer type is In Transit.
D. The source and destination organization doesn’t belong to the same legal entity.

Answer: D

NEW QUESTION 111
Given the code fragment:

Which code can be added to register both of these methods to receive BankEvent notifications only if an instance of BankActivityService is already instantiated in
the current context?

A. @Observes(notifyObserver=IF_EXISTS) on line 3 and line 6
B. @Observes(during=IN_PROGRESS) on line 1
C. @Observes(during=AFTER_COMPLETION) on line 1
D. @Observes(notifyObserver=IF_EXISTS) on line 4 and line 7 before method parameter declaration

Answer: A

NEW QUESTION 114
Which statement is true about the relationship between HTTP and WebSockets?

A. A WebSocket connection is a bi-directional HTTP session with message-handling support.
B. A WebSocket connection is initialized with an HTTP handshake.
C. A WebSocket connection can be initialized by either client or server.
D. A WebSocket connection uses HTTP protocol to exchange data with the browser.
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Answer: D

NEW QUESTION 116
You have been assigned to the Widget Editor portion of an application. It contains a Widget Editor Facelet page, the Widget class, and a simple WidgetEditor
backing bean, which contains a reference to the current Widget instance.
Given the code fragment from the Widget class:

Given the code fragment from the Facelet page:

The page displays Conversion Error when a user fills out all the form fields and clicks the Save button. Which step do you perform to fix this problem?

A. Replace Line 1 with:<h: inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”converter=“java.util.Date”/>
B. Enclose the code fragment within the <f:view/> tag
C. Insert <f:convertDateTime”/> at Line 1
D. Replace Line 1 with:<h:inputText id=“createDate”value=“#{widgetEditor.widget.createdDate}”><f:convertDateTime pattern=“dd-mm-yyyy”/></h:inputText>

Answer: D

NEW QUESTION 120
Identify two valid WebSocket message types for which you can register handlers. (Choose two.)

A. Error Message
B. Binary Message
C. Pong Message
D. Ping Message

Answer: BC

NEW QUESTION 122
Which type allows you to share servlet attributes across your entire web application?

A. ServletContext
B. HttpSession
C. ServletRequest
D. ServletConfig

Answer: A

NEW QUESTION 124
Your organization has lot controlled and nonlot controlled material and stores all defective material in a subinventory called “Defect”. The organization does not
want defective material to be available for reservations or for subsequent shipping to customers.
Which option satisfies this requirement?

A. Tag the lot as defective product.
B. Disallow all inventory transactions for the subinventory “Defect”.
C. Put a hold on the lot.
D. Assign the subinventory a material status that disallows reservations and allows subinventory transfers and issues to scrap.
E. Assign the lot a material status that disallows reservations and allows subinventory transfers and issues to scrap.

Answer: D

NEW QUESTION 129
Give the code fragment:
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And the code fragment:

The sendConfirmation() and reserve() methods should be executed in the same transactional context. Which transaction attributes do you ensure this?

A. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRES_NEW) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.MANDATORY) atline 12
B. No additional annotations are required.
C. Add annotations:@TransactionAttribute (TransactionAttributeType.REQUIRED) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12
D. Add annotations:@TransactionAttribute (TransactionAttributeType.MANDATORY) at line 2,@Transactional at line 9 and@TransactionAttribute
((TransactionAttributeType.REQUIRES_NEW) at line 12

Answer: D

NEW QUESTION 130
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction
B. Obligatory Jurisdiction
C. Local Jurisdiction
D. Income Tax Jurisdiction
E. Transaction Tax Jurisdiction
F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 132
Your customer is managing a large sales team divided in two different geographies in the USA. They have the Est Coast sales team and the Central sales team.
Both teams are handled by one manager and perform the same function.
Your customer wants to track the expenses of the two teams separately; however, they do not consider them different as they are handled by one manager only.
How will you fulfill the requirement?

A. Define them as a single department and two separate cost centers.
B. Define them as two separate departments and a single cost center.
C. Define them as one department and one cost center.
D. It is not possible to fulfill the requirement.

Answer: A

NEW QUESTION 133
Which statement is true about JAX-RS resource implementation?

A. The REST resource implementation class must extend the javax.ws.rs.core.Application class
B. The REST resource class can be implemented as a stateful Enterprise JavaBean (EJB).
C. The REST resource class can be implemented as a Plain Old Java Object (POJO).
D. The REST resource implementation class must not be final.

Answer: A

NEW QUESTION 138
Given the code fragment:
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Assuming this bean is used only in the code fragment above, how long will the injected Bean instance be available?

A. for the lifetime of the enterprise application
B. for the lifetime of the request
C. for the lifetime of the session
D. for the lifetime of the Service object

Answer: D

NEW QUESTION 140
As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you to define an Inventory Organization that is
associated with all the business units and not just one particular business unit.
How do you achieve this?

A. Define the Inventory Organization without associating it with any location.
B. Leave the Management Business Unit field blank in the Inventory Organization definition.
C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition.
D. It is not possible to define an Inventory Organization that is associated with more than one business unit.

Answer: D

NEW QUESTION 143
In Supply Chain Orchestration, Automated Change Management performs which two functions?

A. change to need by dates of a purchase order
B. splitting of a sales order
C. changing the ship method on a sales order
D. change to item attributes
E. changing the supplier on a purchase order

Answer: AB

NEW QUESTION 146
Given the code fragment:

How can you apply DateConverter to the birthday field?

A. by adding @Convert(to=Date.class) at line 3
B. by invoking the setConverter(DateConverter.class) method on the EntityManager object
C. by adding @Converter(autoApply=true) at line 1
D. by adding @Convert((DateConverter.class)) at line 2

Answer: A

NEW QUESTION 147
You created two filters for your web application by using the @WebFilter annotation, one for authorization and the other for narrowing results by the provided
search criteria. The authorization filter must be invoked first.
How can you specify this?

A. setting the priority attribute of the @WebFilter annotation for each of the filters
B. placing the filter mapping elements in the required order in the web.xml deployment descriptor
C. placing @WebFilterMapping annotations in the required order
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D. specifying the filter precedence order by using the @Priority annotation

Answer: A

NEW QUESTION 150
What three Key Performance Indicators are available in the Warehouse Operations Dashboard?

A. Shipment Value
B. Hit or Miss Accuracy
C. Cycle Count
D. Inventory Value
E. Distributed Value
F. Exact Matches Rate

Answer: BDF

NEW QUESTION 154
Given the code fragment:

How long does this cookie persist?

A. until server shutdown
B. until garbage collection in the servlet instance
C. this request
D. until browser shutdown

Answer: D

NEW QUESTION 157
What are two outcomes when a lot expires on an item with lot control enabled?

A. It remains an inventory, but is not considered on-hand when the user is performing min-max or reorder point planning calculations.
B. It is issued out of stores.
C. It cannot be transacted.
D. It is not included in cycle counts.
E. It cannot be reserved for a date beyond the expiration date.

Answer: AE

NEW QUESTION 159
You are building the User Preferences page of an application. A user can change values, such as his or her name, password, address, company, and so on.
These values are sent to a CDI backing bean via AJAX when the user tabs out of each field. However, the values must be retained in the CDI bean and stored in
the database only when the user clicks the Save button.
Which two scopes will allow your CDI bean to retain its state while the user is interacting with the User Preferences page? (Choose two.)

A. Dependent
B. View
C. Session
D. Request
E. Application

Answer: CD

NEW QUESTION 161
Which three values are applicable for the profile option - “Transaction Processing Mode” for subinventory transfer and interorganization transfer?

A. Background Processing
B. Sequential Processing
C. Concurrent Processing
D. Online Processing
E. Offline Processing
F. Blind Processing

Answer: ACD

NEW QUESTION 165
Your class requires multiple resources defined, as shown in the following:
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Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing <XXXX> in the code above?

A. @Resources
B. @Resource
C. @ResourceGroup
D. @ResourceCollection

Answer: B

NEW QUESTION 166
You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you can receive partial messages. (Choose
two.)

A. Define an @OnMessage method with a single MimePart parameter.
B. Use a ChunkListener interface implementation.
C. Use a MessageHandler.Partial<ByteBuffer> interface implementation.
D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter.

Answer: CD

NEW QUESTION 169
Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don’t want item B to also have serial 123 within the same
inventory organization.
Which serial control setting must be used to meet this requirement?

A. Unique across Enterprise
B. Unique within items
C. Unique within organization
D. Unique across organizations
E. Unique within Item and organization

Answer: C

NEW QUESTION 172
What are the four steps for the move request process flow?

A. Create shipment
B. Create Movement Request
C. Confirm pick slips
D. Run the Movement Request Pick Slip Report
E. Physically move the material
F. Run pick slip allocation

Answer: BCDE

NEW QUESTION 173
Which two capabilities are provided by the Java Authentication and Authorization Services (JAAS) API? (Choose two.)

A. protecting data from unauthorized viewing by using encryption
B. verifying that a user is allowed to perform an action
C. ensuring that data is not modified in transit
D. verifying identity claims from users

Answer: BC

NEW QUESTION 178
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService
B. using the ManagedExecutors utility class to define the execution properties
C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 181
You have an organization that runs both its domestic and international business from the same offices. However, the organization does not want the domestic side
of the business to be able to transact on the international side, even though they are selling the same material.
How do you configure your enterprise to meet this requirement?

A. Set up the domestic and international businesses as separate operating units.
B. Set up the domestic and international businesses as separate projects.
C. Set up the domestic and international businesses as separate business units.
D. Use data access security to separate what each customer can control.
E. Set up the domestic and international businesses as separate cost centers.

Answer: C
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NEW QUESTION 182
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